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0.250.000.250.500.751.001.251.501.75

Fiber 342, dchi2frac= 0.9



2 0 2

2

0

2

data

1.52.02.53.03.54.0

2 0 2

2

0

2

model

1.52.02.53.03.54.0

2 0 2

2

0

2

residuals

0.250.200.150.100.050.000.050.100.15

Fiber 2475, dchi2frac= 1.0



2 0 2

2

0

2

data

1.01.52.02.53.03.54.04.55.0

2 0 2

2

0

2

model

1 2 3 4 5 6

2 0 2

2

0

2

residuals

1.61.41.21.00.80.60.40.20.0

Fiber 220, dchi2frac= 1.0



2 0 2

2

0

2

data

1.251.501.752.002.252.502.753.003.25

2 0 2

2

0

2

model

1.5 2.0 2.5 3.0 3.5

2 0 2

2

0

2

residuals

0.60.40.20.00.2

Fiber 4305, dchi2frac= 1.0



2 0 2

2

0

2

data

0.81.01.21.41.61.82.02.22.4

2 0 2

2

0

2

model

0.751.001.251.501.752.002.252.50

2 0 2

2

0

2

residuals

0.1500.1250.1000.0750.0500.0250.0000.0250.050

Fiber 384, dchi2frac= 1.0



2 0 2

2

0

2

data

0.751.001.251.501.752.002.252.502.75

2 0 2

2

0

2

model

1 2 3 4 5

2 0 2

2

0

2

residuals

2.52.01.51.00.50.0

Fiber 131, dchi2frac= 1.0



2 0 2

2

0

2

data

1.5 2.0 2.5 3.0 3.5

2 0 2

2

0

2

model

1.5 2.0 2.5 3.0 3.5

2 0 2

2

0

2

residuals

0.20.10.00.10.20.30.4

Fiber 325, dchi2frac= 1.0



2 0 2

2

0

2

data

0.751.001.251.501.752.002.252.50

2 0 2

2

0

2

model

1.01.52.02.53.03.54.04.5

2 0 2

2

0

2

residuals

2.5 2.0 1.5 1.0 0.50.0

Fiber 4570, dchi2frac= 1.0



2 0 2

2

0

2

data

1.5 2.0 2.5 3.0

2 0 2

2

0

2

model

1.0 1.5 2.0 2.5 3.0

2 0 2

2

0

2

residuals

0.150.100.050.000.050.100.15

Fiber 291, dchi2frac= 1.0



2 0 2

2

0

2

data

1.001.251.501.752.002.252.50

2 0 2

2

0

2

model

1.001.251.501.752.002.252.50

2 0 2

2

0

2

residuals

0.250.200.150.100.050.000.050.100.15

Fiber 442, dchi2frac= 1.0



2 0 2

2

0

2

data

1.01.52.02.53.03.54.04.5

2 0 2

2

0

2

model

1.01.52.02.53.03.54.04.5

2 0 2

2

0

2

residuals

0.150.100.050.000.05

Fiber 288, dchi2frac= 1.0



2 0 2

2

0

2

data

1.01.52.02.53.03.54.04.55.0

2 0 2

2

0

2

model

1.01.52.02.53.03.54.04.55.0

2 0 2

2

0

2

residuals

0.1000.0750.0500.0250.0000.0250.0500.0750.100

Fiber 2484, dchi2frac= 1.0



2 0 2

2

0

2

data

1.01.52.02.53.03.54.0

2 0 2

2

0

2

model

1 2 3 4 5 6

2 0 2

2

0

2

residuals

2.0 1.5 1.0 0.50.0

Fiber 4924, dchi2frac= 1.0



2 0 2

2

0

2

data

1 2 3 4 5 6 7 8

2 0 2

2

0

2

model

1 2 3 4 5 6

2 0 2

2

0

2

residuals

0.00.51.01.52.02.5

Fiber 4568, dchi2frac= 1.0



2 0 2

2

0

2

data

1.52.02.53.03.54.04.5

2 0 2

2

0

2

model

1.52.02.53.03.54.0

2 0 2

2

0

2

residuals

0.00.10.20.30.40.50.60.7

Fiber 346, dchi2frac= 1.0



2 0 2

2

0

2

data

2 3 4 5

2 0 2

2

0

2

model

2 3 4 5

2 0 2

2

0

2

residuals

0.8 0.6 0.4 0.20.0

Fiber 2500, dchi2frac= 1.0



2 0 2

2

0

2

data

1.01.52.02.53.03.54.0

2 0 2

2

0

2

model

1.01.52.02.53.03.54.0

2 0 2

2

0

2

residuals

0.30.20.10.00.10.2

Fiber 796, dchi2frac= 1.0



2 0 2

2

0

2

data

1 2 3 4 5 6

2 0 2

2

0

2

model

1 2 3 4 5 6

2 0 2

2

0

2

residuals

0.060.040.020.000.020.040.060.08

Fiber 4772, dchi2frac= 1.0



2 0 2

2

0

2

data

1.01.52.02.53.03.54.0

2 0 2

2

0

2

model

1.01.52.02.53.03.54.0

2 0 2

2

0

2

residuals

0.0750.0500.0250.0000.0250.0500.0750.1000.125

Fiber 2713, dchi2frac= 1.0



2 0 2

2

0

2

data

0.9 1.0 1.1 1.2 1.3

2 0 2

2

0

2

model

0.9 1.0 1.1 1.2 1.3

2 0 2

2

0

2

residuals

0.040.030.020.010.000.010.020.03

Fiber 4336, dchi2frac= 1.0



2 0 2

2

0

2

data

1.01.52.02.53.03.5

2 0 2

2

0

2

model

1.01.52.02.53.03.5

2 0 2

2

0

2

residuals

0.350.300.250.200.150.100.050.000.05

Fiber 2038, dchi2frac= 1.0



2 0 2

2

0

2

data

0.81.01.21.41.61.82.0

2 0 2

2

0

2

model

1.01.52.02.53.03.54.04.55.0

2 0 2

2

0

2

residuals

3.02.52.01.51.00.50.0

Fiber 415, dchi2frac= 1.0



2 0 2

2

0

2

data

1.52.02.53.03.54.0

2 0 2

2

0

2

model

1.52.02.53.03.54.04.5

2 0 2

2

0

2

residuals

0.80.60.40.20.00.20.40.6

Fiber 4390, dchi2frac= 1.0



2 0 2

2

0

2

data

1.0 1.5 2.0 2.5 3.0

2 0 2

2

0

2

model

1.0 1.5 2.0 2.5 3.0

2 0 2

2

0

2

residuals

0.30.20.10.00.10.20.3

Fiber 4798, dchi2frac= 1.0



2 0 2

2

0

2

data

1.52.02.53.03.54.04.55.0

2 0 2

2

0

2

model

2 3 4 5

2 0 2

2

0

2

residuals

0.4 0.3 0.2 0.10.0

Fiber 982, dchi2frac= 1.0



2 0 2

2

0

2

data

0.81.01.21.41.61.82.02.2

2 0 2

2

0

2

model

1.01.21.41.61.82.02.22.4

2 0 2

2

0

2

residuals

0.200.150.100.050.000.050.10

Fiber 226, dchi2frac= 1.0



2 0 2

2

0

2

data

1.01.52.02.53.03.54.04.55.0

2 0 2

2

0

2

model

1 2 3 4 5

2 0 2

2

0

2

residuals

0.70.60.50.40.30.20.10.0

Fiber 4916, dchi2frac= 1.0



2 0 2

2

0

2

data

0.81.01.21.41.61.82.02.22.4

2 0 2

2

0

2

model

0.751.001.251.501.752.002.252.50

2 0 2

2

0

2

residuals

0.50.40.30.20.10.00.1

Fiber 706, dchi2frac= 1.0



2 0 2

2

0

2

data

1.01.21.41.61.82.02.22.4

2 0 2

2

0

2

model

1.001.251.501.752.002.252.502.75

2 0 2

2

0

2

residuals

0.2 0.10.0 0.1 0.2

Fiber 619, dchi2frac= 1.0



2 0 2

2

0

2

data

1.01.52.02.53.03.5

2 0 2

2

0

2

model

1.0 1.5 2.0 2.5 3.0

2 0 2

2

0

2

residuals

0.10.00.10.20.30.40.5

Fiber 413, dchi2frac= 1.0



2 0 2

2

0

2

data

2 3 4 5 6

2 0 2

2

0

2

model

2 3 4 5 6

2 0 2

2

0

2

residuals

4 3 2 1 0

Fiber 951, dchi2frac= 0.9



2 0 2

2

0

2

data

1.01.52.02.53.03.54.0

2 0 2

2

0

2

model

1.01.52.02.53.03.54.04.55.0

2 0 2

2

0

2

residuals

0.70.60.50.40.30.20.10.0

Fiber 2556, dchi2frac= 1.0



2 0 2

2

0

2

data

1.01.21.41.61.82.0

2 0 2

2

0

2

model

1.01.21.41.61.82.02.2

2 0 2

2

0

2

residuals

0.300.250.200.150.100.050.000.05

Fiber 371, dchi2frac= 1.0



2 0 2

2

0

2

data

1 2 3 4 5 6

2 0 2

2

0

2

model

1 2 3 4 5 6

2 0 2

2

0

2

residuals

0.150.100.050.000.050.100.150.200.25

Fiber 2357, dchi2frac= 1.0



2 0 2

2

0

2

data

1.01.52.02.53.03.54.0

2 0 2

2

0

2

model

1.01.52.02.53.03.54.0

2 0 2

2

0

2

residuals

0.100.050.000.05

Fiber 2755, dchi2frac= 1.0


